A. 

	95% Conf level
	MRPP based on abundance


	PerMANOVA based on abundance
	MRPP based on proportional abundance


	PerMANOVA based on proportional abundance

	Subset 1
	p = 0.016
	p = 0.005
	p = 0.010
	p = 0.008

	Subset 2
	p = 0.009
	p = 0.005
	p = 0.011
	p = 0.005

	Subset 3
	p = 0.009
	p = 0.008
	p = 0.017
	p = 0.011

	Subset 4
	p = 0.008
	p = 0.01
	p = 0.012
	p = 0.004

	Subset 5
	p = 0.015
	p = 0.008
	p = 0.01
	p = 0.004


B. 
	97% Conf level
	MRPP based on abundance


	PerMANOVA based on abundance
	MRPP based on proportional abundance


	PerMANOVA based on proportional abundance

	Subset 1
	p = 0.017
	p = 0.007
	p = 0.007
	p = 0.007

	Subset 2
	p = 0.015
	p = 0.004
	p = 0.016
	p = 0.006

	Subset 3
	p = 0.019
	p = 0.013
	p = 0.010
	p = 0.009

	Subset 4
	p = 0.011
	p = 0.009
	p = 0.008
	p = 0.014

	Subset 5
	p = 0.012
	p = 0.011
	p = 0.017
	p = 0.007


C.
	99% Conf level
	MRPP based on abundance


	PerMANOVA based on abundance
	MRPP based on proportional abundance


	PerMANOVA based on proportional abundance

	Subset 1
	p = 0.01
	p = 0.007
	p = 0.01
	p = 0.005

	Subset 2
	p = 0.02
	p = 0.006
	p = 0.01
	p = 0.005

	Subset 3
	p = 0.014
	p = 0.012
	p = 0.011
	p = 0.013

	Subset 4
	p = 0.024
	p = 0.017
	p = 0.012
	p = 0.009

	Subset 5
	p = 0.014
	p = 0.012
	p = 0.011
	p = 0.004


